1. ual nadsd 3, 10, 10, 4, 7, 10, 5 4 wasdfl ua [Qaad ... 8.
(A) 2 (B) 2.57 €) 3 (D) 3.75
e (B) 2.57

w38l 3,10, 10, 4, 7, 10 24 5 wuddl waelsdl 9.
3+10+10+4+7+10+5

L oHEE X =

7
7
xi di = |x,- - fl
4
10 3
10 3
4 3
7 0
10 3
5 2
E Zdi =18
weysell uzuUN [Quad §x = z;]lf 18 sy
7
2. Xy, Xgy Xgpeerreewy X, A SO HRAIML 72 2Adlsdl O 2 X oddl HRs O, dl vsdl wda [Qaad
YAl wol
n 1 & _ n 1 & _o
@w 20 -3 (B) ;lei—x © Xlxi-% D) ;Z(xi—x)
i=1 i=1 i=1 i=1
1 n
g B) — 3, |x; — X|
n .
i=1
1 n
- il wun Baad M = % - X|
i=1
3. 5 [@Qyullu sloug 2uym sasui QA Yo ©. 1357, 1090, 1666, 1494, 1623 du-dl wsdll w3
[Quan .......... SALS AL
(A) 178 (B) 179 (C) 220 (D) 356
galel (A) 178

w50 vy 1357, 1090, 1666, 1494 »i4 1623 salsul &,
wél n = 5 wadisi-l v

_ x;
X thés:—z L
n



1357 + 1090 + 1666 + 1494 + 1623
5
7230

5
= 1446

xi 1357|1090 | 1666 | 1494 1623| 54
di=|x;—x|| 89 | 356 | 220 | 48 | 177 |890=Xd,

o oHgel]l wRuA [Quad 8x = 24,
890
"5
= 178 sals
4. 100 -l udenni 9 [Qenefl2iizA Ad Quani Hnda Jadl wRdl 1A Yo 8.
50, 69, 20, 33, 53, 39, 40, 65 i1 59 1 WAL Heuradl ARAA [QAad yeu ... 8.
A) 9 (B) 10.5 (C) 12.67 (D) 14.76

gaiel (C) 12.67

w ] uad wal sadisHlAl Aadl $MHD (Ascending order) Mi dwdi, 20, 33, 39, 40, 50, 53, 59, 65, 69.
wél 7 = sadisi-l dva = 9
% NYIH 9,

n-+1

R M —( J Y vadlsi

= (9 - 1] Y wadis
2
= 5% uadisd
S HRRE Me = 50

xi 20)133|39|40( 50| 53| 59| 65| 69|54
|x;—Me|[30 (17| 11| 10| 00| 03| 09| 15| 19|114

2lx; - M
wegzaell w3 [Qudd = %
_ 114
9
= 12.67
5. adsdl 6, 5, 9, 13, 12, 8 2«1 10 W2 uH@d [Qadad 6 = ..........
[52 59
(A) 7 (B) - C) /6 D) 6
o (A g
ofalol (A) 4 =
-

xi |65 9|13(12] 8|10 g4 63
x? | 36|25 | 81 [169|144| 64 |100| 619 = Zx?




G = 819 _ 81
7
~ /619 — 567
7
52
0= ,—
7
6. A Xy, Xy Xgy Xy ceeenne , X, 516 RN n vadlsdl Slu dal X ddll wAs Sld dl wilid [Qagn -
44 ... ol WL,

Y .72 2
@A) X(x; - ) (B) Z(XZTX) © ,/Z(XITX) (D) Zzl - (x)?
—2
el (C) 1’72(37,- - %)
n
T(x; — %)
w  yyBd [Qudd o = ’? ool wal,

7. 50 vadlsd WSl v ud vl [Qadad wgsi 50 2 5 6, dl 24 SadlsiAl ol urawl
.......... 8.

(A) 50000 (B) 250000 (C) 252500 (D) 255000
At (C) 252500

w dl = wdlsHL v = 100
T = Madls-i-dl s = 50
G = »adisdld uullBd [Qadd = 5

N
gd X =
n
50 = 2%
100
-, Tx; = 50000
2
N X _
¢l (6)? = X (x)?
2
5= X" (5072
100
2
. 25+ (B0 = =5
100
2
. 25 + 2500 = =%
100
2
L 25 9505
100
. Tx? = 252500

oA gAlsHlAL 9oL qRAWL = 252500 .

8  Aa b cdAdl eSS WAL 5 AAAS 9. AU WS m oA UHURA [Qaan S €. ol €35 vaalsiul
k GRRAMl 20d dl daw vadish a+ k b+ k c+ k, d+ ki e+ kg vl Qaan ... 2

S
(A) S B k-S © S +k (D) T



ALty
-

gALL

10.

AL

11.

ALt

A) S
Hilddldl 2Ulal vadisdinl 8 9Adz 20 b GHRAUHE 20d dl HasHl 210 k Fedl dwiRl il viald

Aol Hs (mo+ k) il e wlbd Raadani s 52 wd Adl sum waAn k GHdD g wHilad
[Baad S o .

2L Y
MIEL 5 X)), Xy Xgp e , X, MUl 72 acisdidl s xodal uHld [Qaad S .

gd g8 wAdls A0 g 93 ARl k GHRAME 2 dl dl s @ - X + k. A A uHlRid
[Badd |a| - S ay.

X, Xgy Xgp weeens y X, 518 WRA 72 2adisi-Al uus m 2w wulid [Qaad S . A €35 sadisd k a3
gl »ud dl g b [Qaad ... . (vl k # 0)

S
A) |k|+S ®) ©) |k|-S D) S

©|k|-S

WRAlAL 7 2adisdia 20 ka3 i 2ud dl dl qRdAL 2215 | k|- S wa. (aissouaddl yaed
wyd).

X1y Xop X3y cevees , X, SIS WRAU 1 adisl 1 6. ¢d W, = Ix; + kol i = 1,2, 3, ......, n €4 dAl
WAL neus 48, uHilBld [aant 12 da W; -l w1 55 dld dl 2 W; o wlBid [Qaaq 15 gl dl 1
dal k UL 4l AgsH .......... Q.

A I1=12551k=-5 B)I=-125»1k=5 (COIl=25xsw1k=-5 D I=25%1k=5
A I=125x41k=-5

WRdlAL MAlSL X, Xy, Xg, ooy X, 7L ERS 8257 [ A Sl AU k GHRAL A4l s Wy =X + k

ALY

il W, = 55 8.

;55 =148) +k e (i)

g wuld [@aaqd =[] - S

15 = 1] - 12

2E

2 lil==
4

oo l=1.25 yiy
2§l yey, ulReus (i) ui sl

5
55 =-({48) + k
4( )+

=60 + k
. 50 -60=k
sok=-5
uaH 10 wglds Avapig wulid [@Qaad ... A,
(A) 5.5 (B) 3.87 (C) 2.97 (D) 2.87
(D) 2.87
we vl ¢

n® -1

6.

wad pn wglds dAvdialg wulad [@Qad § = o

Loud 10 wslas dvaisig uHif@d Baad



~jao -1
- 12

100 -1
12

0 =+/8.25
¢ =287
12, waH 10 wlds dvai 1, 2, 3, 4, ... , 10 €35 vl 1 (s) GHRAL Hadl 4dl wglas dvailg [Qaw

=8 B8

(A) 6.5 (B) 2.87 (C) 3.87 (D) 8.25
gdie1 (D) 8.25

b
—
4

= - Y . =~ 1
w o us el gl 5, daw noslds dvasig [aw =

¢d n = 10 Ysi.

2
e 10)~ - 1
ouaH 10 wslas Al [Qure = aor -1
100 -1
12
_ 9
12
_ 3 _gas
4

Loud 10 wglds Avaiaig [Qaze = 8.25

2wl e85 Avadl 1 GHAL g [Qam | 1] 8.25 e, valg [Qaea 8.25 % .

WM, HAH e WSS AvaAMl €35 1 GHRAL Adl dviadid (a0 = 8.25 4.
x|y Xpy Xy ceeeene , x, Ml vadlsdl]d i Raan (alq @ 4 B} S 9. 9 els
MAalsn Yldz k as oedi g wlbd [@Baaq | k| - S A,

13, uaM 10 slRs wglas Avaiad -1 ad el €35 vl 1 GHRaAmE »ud 8. dl dl dvailyg [Qara

.......... WY,
(A) 8.25 (B) 6.5 (C) 3.87 (D) 2.87
g1t (A) 8.25
. < a n® -1 N
w  uay g mslas vl ([Qaw = TR
2
N e 10) — 1
¢d 10 mglas Avald Qe = %
_99
12
NECNS 8.25
. -8
gd 835 Avdld -1 a3 oefld 1 5H3dl Ex.No.(31) -l -t yael uHiad [Guad eisals €l
14. 45 R 60 Hadisil W Tx? = 18000 U1 Zx; = 960 O. dl [Quw .......... 1T

(A) 6.63 (B) 16 Q) 22 (D) 44



gl (D) 44

2
w ol [Baze = ZL‘Z - (&J
n fl
18000 (960)°
T 60 [BOJ
= 300 - (16)?
= 300 — 256 = 44
15. 6 WRAW [Ad@u xadisAl A4nis §gsH 50 A 60 O dAl dHAL AHIAR HRUS 30 dUl 25 ©. dl
dul WHRA [QuanHl dsad ......... .
(A) 0 (B) 1 (©) 1.5 (D) 2.5

galet (A) O

w uay yfedlHl wanis CV) = 50
sl wiladlHl adnis CV, = 60
yay Hiledl4l uHidz Hws X = 30
ol Mifedl-l uMidz Mg Xp = 25

¢d cv; = 2L x 100
X1

. 50:%“00

.01215

2% dAd 6, = 15 34l
L uHIBI BaadHl dsiad = o) - o,

=15-15
=0
16.  ¥s duritg AlRuuul uHlid [Qaad 5 9. A 0 WRAA FdleHl 3uid sl 2ud dl [Qurw
.......... 3l.
(A) 81 (B) 57 (C) 36 (D) 25
oaiel (A) 81

5
T GC:5=>§(F—32):C

9C
==+

F 32

GF=%GC=%X5=9

wdl of = (9% = 81

17. il [deuct P(n) o Geigel M, @ €3s 1 > 4 2 AcA &R’ uer P(1), P(2) i P(3) AcA o &l
dHRL YdiGicll Askriell s2.
w43 3 [Qud P(n) : 3n < n! 9.
gd n =132 P(1):3(1) < 1!
w3<1
¥ A -l
gd n = 2 MR P2) : 3(2) < 2!
bl x2



18.

19.

o< 2
% At el
3 M12 P(3) : 3(3) < 3!
L9« 1x2x3
©9<6
% At el
4 M12 P(4) 1 3(4) < 4!
L1121 x2x3 x4
w12 < 24
% AU .
n=5 42 P(5):3(5 < 5!
15«1 x2x3%x4x5
15 < 120
¥ UK 5.
WM, QA P() i 3n < n! 3l UAdls 1> 4 HIZ AL 8.

e
o
=
1

48
ey
=
1

A [Genct P(n) of Gelgel M), ¥ UuQs 1 HIZ A &R dHRI YdiGidll Asriel 5.

Wzl %, [Qu- P -2 Yool 9.

nn+1)(2n+1
P{n]:12+22+32+....+n2:$
n- 1wk pa): 1=d+DEx1+])
6
)
6
1=1
22+1)i4+1)
n=2H4z P@R) : 1+22:T)
5:§=>5:5
6
33+ 1)(7)
n =342 P@3) : 1+22+32=T
Ax4dx7
L 1l+4+9="""""
so14 =14

MM, 2UUE (@A dHIM 7 S dd 9.

A uds [denot snfdilaa ool Rigidell ueeedl 2mléia sA :
4" - 1 A udAs wglas 2Ava n W2 3 a3 [deuva B.

P(r) : 47 — 1 a1 udls wslas v 7wz 3 o [Beued ©.

Al uad 7 = 1 W2 b s,

P4l -1
=4 -1
=3

Al e %, 33 3 Al Qe o,
oA P() #on = 1 HI2 dA 9.

Wl 5 wutd (@ n = ke N HIZ2 At ©.
AWM, Pk) : 45 - 1 31 3 Q% [@Qsuod 9.

L4k _1=3g wige N

U P A n=k+1e NHZ uA
P+ 1) (@il -1 w3 a3y [Aeuey

dH UG s34,

0,
%, dd Al sedl,



L P+ ) sakrl o

=4k . 4 -1

=345+ 4F -1

= 3.4% + 3g

= 3(4% + 1)
wiH, 4501 _ 1 B 3l uses 9.
o4kl s 3 gy Ay ©.
SRMA o= ko 1 HE A B,
M PK) = Pk + 1)
oonfRau oA Rigid ool 28a [ Pr) 3 uds ne N |z 2 69,

uild uAs [Qeno dufdilcia diopiictotl Rigicedl Heedl abia sA : 237 - 1 A 7 ad [Aeuwu 9.

ne N

P(n) : 237 -1 7 o} [aouwy 9. ne N
n=1m"e,

22-1=8-1=7% 7 a4} Qeury o.
 P(L) A 9.

M3l 3 PR, ke N ®2 4y 6.
L 23K 13 7 Q) [Qsuey 0.
w23k —7medi me N

23K = Tm o+ 1 oo (D)
n=rk+ 1",
23(k+1)_1:23k_23_1
=(Tm+1)8-1 (o (i) udl)
= Tmx8+8-1
=Tmx8+7

78m + 1) % 7 a4t [Qousy ©.
Pl + 1) 3 9.
Plk) 4t 8 = Pk + 1) dcd &,

LRl gl Rigid MR8 vpeN MR P(r) ad 8.
uld uAs (Genol duicRr topicioll Rugicedl ueell fia sA : 13 - 7n + 3 A udAs wisls
val n w2 3 ad [douvaa 8.
P(r) : 13 - 7n + 33 VYneN H2 3 ab [Qouwy &,
Al uad o= 1 W ulbia s,
P : (13 - 7(1) + 3
=1-7+3
=4 -7
=-3
% 3 ol [Qouosy Aval .
so[@UA P) Bon = 1 HI2 4 9.
2d WL 5 2N [@Qud Pn) M n = ke N Hi2
Hey 69,
MM, @A Ph) : BB -3k + 33 Ve N He a8 dH dlsial,
MM, kB3 -7k +3 =3t teN
e [ P(n) A n =k + 1 e N 2ulbid s,



22.

23.

SPhk+ D k+ D3 -7k + D+ 3 3as [Beuey o, dx albid sl
Lk+ 13 -3k+1)+3
=B+ 1+3k(k+1)-7k-7+3
=k -7k+3+3kKk+1 -6
= 3t + 3[k{k + 1) - 2]
=3[t + k(k+ 1) - 2]
wWH, Pk + 1) 31 3 -l aeop@as yuadl dval o,
P+ 1) a3 Al Roeuey 6.
R P M on = k+ 1e N HEZ o 8.
wH P(k) = Pk + 1)

woou@mldy Mgl Rgid Yo 0t B Vo e N 2 4 8 do seald.
A UAS [Gencl uf@ilaa dtopiicioll Rigidell ueeedl wfoia sA : Ve N u 32" _ 1 A 8 a3
([Geuca .
Pin) : 327 — 1 = 8 4} [Aasuwd 9. ne N
8d n = 1 He b s,
oo P : 32 o

=9-1
=8

% 8 4y [Acuwy &.
R C- LT N7 R BTN TR
Il 5 04 @A 7 = ke N HI2 A 8.
alg Pk : 3% - 1, ke N =1 8 a3y [suwy .

32k _1=8f te N
8d n=k+ le N H2 q®d 53,
oo Ple+ 1) 2 32+ D) 1 2y 8 qs [Qeund € du 2l sl
ga 320+ _q

— 32k+2 -1

=32k.32_1
32k (9) - 1
=32k@+1) -1
=8 (3%k) 4+ 32k _ ]
8 (324 + 8t

=8 (32K + )
2, [ Pk + 1)a 8 -l dsdals vuadl v &,

od 8 ad [Asuwy 9.
o B Plk+ 1), VE+1e N W2 a8,
2014, P(k) = P(k + 1)

LooufRfaa g Risid yaet »uta @ad P uds wgls v n e N M2 a9,

Nd UASs [Gencl ul@iaa dtopiicioll Rigidell ueeedl fcid sA : Vne N me 77 - 2" 31 5 a3
([doucaa 8.
P(r) : 7" - 27 3 54 [Gonwry 8. ne N
el 1= 1 He Al sidl,
Py 7t -2t
=7-2
=5



24.

25.

% 5 a3 [Asusu 6.
KR COTE R "R IR T )
Mzl 5 wba QU 7 = ke N W2 acdd 9.
WH, Pk) : 75— 2K 5 5 Qb [Asio ©.
dx {513,
s TR 2k -5t euite N
el [ P(n) A n= k+ 1e N e i s,
alg, Pl + 1) @ 781 - 2K-1 o 5 43 [oued 8 ax b s,
L7k+l _ok+l_ k. 7 _ ok, o
=75 +2)—2k. 2
=5(7f) + 2.78 2.2k
= 5(78 + 2(7k - 25
= 5(7% + 258 (- [@an Pl w18
=507k + 2
wH, (Ao Pk + 120 593 ooy 9.
dH A1 2, 9.
P(k) = Pk + 1)
©ooufmfad vl Reld yom »iid [ Ve N 32 ddd 8.

Nd UAS [Genct ul@ilaa dtopiicioll Rigidell Heeedl a16id s : x” - y" A x — y a3 [Geuva 8

ne N. o2 x via y [Bicol drdlds gveil 8.
wWél P{) 0 x® — Y ul x — y Al Aeurd 9, ne N
Ul x dul y [l aldlds dvasd 9.
el n o= 1 e [@ud abid sedi,
PQ) : x" -y
=x-y
¥ x -y di [@Qeuwy 9.
R CUTR R I TEREI IR
W 3wl B 7= ke N "2 dd 6§,
alg Ph) @ x* — Yy ol x — y as [eurd © dy wdlsirdi,
wxk -y = fx - y) wul e N
el 1= k+ 1 eN -2 abid sedi,
WP+ 1) s xRl Rl x oyl [Benery B M wBid sl

-

el g+l _ kel
Fox—ybey
=xk o x— Xk oye by Yoy
= xFx - ) + pxF — )
=xfx -y +y - tx -y (o R PR urell)
= -y &+ s
M, A Pk + 1) M (x — y) a3 Roled 8, d4 sdaiu.

=X

sAamd =k +1 eNHR2 ay o,
s PR =Pk+ 1D
»oonfEfas aguial Raid Yoo st [Agd P(n), Yre N HI2 A 6.

A UQs (Aot dufilaa iopiicloll Rigidell ueeedl 2mléia s :



Vn=2 s2 nd-nd 6 a3 [euva 8.
Pin) = n3 - n 3 6 4% Acusd 9. %4l n > 2¢ N.
gd n = 2 "l s,

P(2) :23-2
=8-2
=6

% 6 43 [Asusu 6.
oo RMA = 2 W2 A .
Sl I 5 20U @ Pn) vl = ke N M2 3 6.
alg Pk) 1 &5 - k3l 6 d4i [Bousd o,
wul k#2 ¢ N
nalg k3~ k=6t e N.
gl n=Fk+1eNHHe abid s,
SPE D k1D (k+ D) o6l [Asuad 9. dH wlBd s,
sdk+ 13 -(k+ 1
=B+ 1+3kk+D-(k+1D
—kB+ 1 +3k+3k-k-1
Bk +3kk+1)
= 6t + 3k(k + 1) (- [Bsd Pk uzell)
wusl eellan ¢l 5, Y e N " 3k(k + 1) 2L 6 o [Qousy wy.
ool [t on = k+ 1 e N HIZ ucd 69,
wWH, Pk) = Pk + 1)
Loou@las sl Ragld Yool [@ud P(r) 2 Udls 7 oe N HI2 At 9 dH sea,

A UAQS [Geuct 2uf@ifda dtopiictoll Riggicell ueeedl mfbia sA : uAs n € N xe [Aeuot nn? +
5 A 6 d5 [deuva 8.
P(n) : n{n? + 5) »L Udls n e N U2 6 a3 [Qenard ©.
el 1 = 1 " b sidl,
P(1) : 1{12 + 5)
1(6)
=6
% 6 o) [amira 9,
oA P ¥on = 1 M2 U 9.
el W 3 n=ke NH2 Rud Pk At 8.
ald PK) : k(k? + 5) ¥ 6 ab [Asuay 9.
du s,
mald k(K> + 5) = 6t, t € N.
sl 1= k+ 1 eN =2 abid sedi,
§ulg Ptk + 1) : (b + Dtk + D? + 58 »L 6 43 [aouwy 8. ax 0id s,
wél (k + Dk + 1?2 + 5}
=(k+1D3+5k+1)
=3+ 1+3klk+ 1) +5k+5
=3 +1+3k +3k+5k+5
— B +32 +6k+6
=3 +5k+ 3k +3k+6



27.

28.

klk+5) +3k2 + k+2)
=66+ 30k + k+2)

wl, k2 + k+ 23 udls ke N e 2 a3 [Qoeuwy ©.

L3024k o+ 2) 96 s [Asuay .

AP+ 1) 6+ 302 + k+2)6 6dd [Qouey . dx AqlBid a9,

s [RuA Pl + 1) A4 6.
214, P(k) = Pk + 1)

oufBdla s Rigid Haer 2itd [ P 3 uds 1 e N Hiz A 6,
A UQAS [denct dufCilcia JopHictol Rigiiaell #eeell feia sA : duféidla JiofHiciel Rigiail

Acid sA : n2 < 2" n > 5.
P{n):2">n?, nz5 vneN
n=>5 ™2 P(5) : 25> 52
5325259 A ©.

o P(5) A o,
n=k k>5 ke N H2 wid § Pk) a4 9.
o Pl 2k s k2
k2 < 2k
R Rk+ D <25+ 2k+ 1)
ke D2<2k4 2K+ 1) uig 28+ 1) < 2K k25
s (k+ 12 <2k 40k
oo (k+1)2<2- 2K
v (k+ D2 <2kl
s 26D (ke 1)2
“Plk+1) A 9.
Pk) ad 9. = Pk+1) 3 8.
oofadly sl Rigid uzell P(n), yne N a6,
A UASs [Aenct dulifc dtopiiotott Rigiicell seeell a6 52
Pn):2n<(n+2)!'neN
sd 7 = 1 He b s,
P :21) <1 +2)!

=2<3!

=2<1x2x3

=2<6
¥ A 9.
solauH o p =1 HEE a9,
HIZl 3 20 B Pn) ol n = ke N dcd 6.
mald P(k) : 2k < (k+2) ! ke N ut B 8 dy wdlsrdi,
s A P(n) vl n =k + 1e N 12 2t 89 dy A6 s,
Mald Pk + 1) : 2(k+ 1) < (k+ 1 +2) ! 2ulBd sadi,

¢d 2k < (k+2)! (- [Bae Prk) uzel)
L2k +2<k+2) 42
L2+ D)<k 2+ 2 Ll (i)
ddl (k+ 2) '+ 2 <(k+3)! ... (ii)

yReus (1) - (i) wadl,

t:2n<(n+2)! vyne N.



29.

2+ DD < k+ 3!

2+ DD <k+1+2)!

2 [ 7= kK + 1 € N Hie U8l Ad 9,
4, P = Pk + 1D
©oonfBdly gl Bgid Yoo auta [@ue
vine N HRZ A 9.

2N UQS [Aenot duftilcaa JtopHicioll Rigidell ueeedl a16ia sA :
1
\/7< ..... + = «qain>2 N
Gt iz 2e N
1 1
P{n]:\/ﬁ<—+—+—+ .......... + —
NIERENG N ] n
w4l 11 > 2 € N.
Al uad 7 = 2 e b s,
. P(2): <!
ite
J2 +1
2 g
J2
'.2<\/§+1
¥ A 9.
a2 = 1.41 aw.
w2+ 1= 141+ 1 = 2.41 w9l
w2 < 241 % A 69,
QoA 1 = 2 "2 A 9.
L %, »Ud [Qu 1= ke N 2 34t 9.
1
~ P(k) ‘/E<\/— J— \/— ----------- TR et D an wdlsiadl,
gd n==k+1e N2 qbd s3dli,
1 1 1
P+ Jk+le—+— ...t +
er iy RN T+l
AlBLA 53l
) 1 1 1 1
Ml VE € — + — + —— e + — (- QU P Hare)
ﬁ 2 p )4
1 1 1
Pn) : Jn <« —+ —+ —+ . + —
f J2 3 n

oyl 1> 2 € N.
Al uad 7 = 2 e b s,

- P(2): JESJ_ f

J2 +1
N 5
'.2<\/§+1
¥ A 9.
a2 = 1.41 aw.
w2+ 1= 141+ 1 = 2.41 w9l
w2 < 241 % A 69,




30.

31.

Qa1 = 2 Hi2 Al 9.
L %, »Ud [Qu 1= ke N 2 34t 9.

1 1 1 1
S P(k)'@<ﬁ+ﬁ+ﬁ+ ........... +-_\/7E Q'I.(-q. £\9 &H Q_C[Lgladi',
sd n==k+1e N b s,
1 1 1
SPE+D VRl —+ — . +
ey D P
AllBa s,
2] \/E<L+L+L ........... +L(-.- @ Pk yaret)
V1oV2 3 Jk

A YRS [Genct dul@ilda dopiiotolt Riggiiaell seeeil umléa sA : 2 + 4 + 6 +

n, ne N.
P(n):2+4+6+..+2n=n%+n, vyneN
n=142 6. =2, 6. =(1)2+1=2
odl.ell, = WL
oo P(D) A o,
Pk):2+4+6+ ... +2k=kK+k au 8. (ke N)... (D)
n=k+ 12,
Plk+1) =2+4+6+..+2k+2{k+1)
= k2 +k+2(k+ 1) (o uleous (i) uzadl)
=k +k+2k+2
= k+2k+1+k+1
k+1)2+(k+1)
oo P+ ded 6,
Plk) act & = P(k+1) acd 9.
oofRidl sl Rigid Haot Pr), vre N A 69,

ANd UASs [Atuct duftilda icHicicll Rigidell xeeedl wlcia sA :

1+2+22+23 4 ... +2n=2n+1 _ 1 pe N.

Pn) : 1 +2+224+25 4+ ... +27=2"*1 _ 1 ne N
Al ] sl Ml g4 (m+ 1) Ue Bl ¢ n o= 1 HE ulBid s,
Pz sl =1 + 2

=3
go.=21+1_ ]
=22_1
—4-1
=3
oSG = %G

R CUTR R I TEREI IR )

Mzl & v QA = ke N HI2 34 9.

alg Pk) 1 1+ 2+ 22 + + 2k = 2k+1
ke N2 a0, ax adlsizdl,

s n=Fk+1c N2 0bBd s,

P+ 1)1 +24+22 4234 $ 2K+l k42 1 (4 1) e N

AlBA 53l

+



32.

Plk+1):1+2+22+ ... + 2k 4 2kt

={1+2+224+ ... + 2k 4 okl
:2k+l_1+2k+l

— 2(2k+ 1) -1

_ok+2 _

_olk+ 1) _

= %.CU.
w7 =k + 1 e N HEZ 3 ©.
14, Pk) = Pk + 1)
A UQS (Aot dufilda topiicloll Rigidell ueeedl 2mléia s :
1+5+9+..+M4n-3)=n(2n-1), ne N.
ML S P : 1 +5+9+ ... +@n-3)=n@n-1),neN
n=1 4z,

sell. =1
gl =1 2x1-1)=1
Sl.oll. = %.oll.

P(1) ¥ 8.

Il 5 Plk) W2 A 9, dd szl ke N
PR :1+5+9+ ..+ (dk-3) =k2k-1) ... (1)
no=k+ 12, 200da [@Qud de ABia szdl
ol =1 +5+ 9+ ...+ {d4k-3) +Mdk + 1)-3)
= k@k -1 + (dk + 4 - 3) (v (1) wrel)
=2k -k + 4k + 1
=2k* + 3k + 1
=2k +2k+ k+ 1
=(k+DR2k+ 1
k+ D2k + 1) - 1]
.00, = %6l
o[ Pl + 1) o 9.

© P(k) ¥ 9. = Pk + 1) ¥y 9.
ool Ml Rgiddl Vo ne N W2 P(r) A 9.



